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{!! Questions

ibe the firnction of a bipolar jmction transistor. Sk€tch and explain the inPut and

characteaistics cuNes of a transistor.

CE- 7 t2008

Rr= 5 Ko

&=20Ko

common emitter npn transistbr circuit, RB=10 KO, Rr-=05 KO, RE=20 KO'

Vse= -30V and common-emitter for',tard transfer ratio F = 200 Neglect the

between base and emitter terminals and hnd:

Emitter curent
Base curent
Collector current
Voltage drop between colleclor and emitter teminals
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2. Using the Boolean Algebra, show that

(a) AEC + AE c+7Ec +VE +c=E +c

O c (A+ c)+ c F +E)+ tE c +,t a c =ic +c

(c) A+ AB= A+ B

@) ABe+AE-+Z Bc+ ABC +AEc=A+ BC

G) AB+7e + AEc(,et+c)=r

Eslablish Truth- Tables for NOR. NA\D and NOT logics.

A pe6on is enlitled to apply for a certain job ifhe/she is:

(a) a woman ove. the age of40

(b) a manied man

Three switches are provided to test the entitlement;

Switch A puts logical 1 on the output ifthe person over 40.

Switch B puts logical 1 on the output ifthe person is male.

Switch C puts Iogical 1 on the output ifthe person is married.

Write down a logical equation for an output F which indicates entitlement
suitable affangement ofgates which would perform this function.


